Every math operation has it's inverse.
Inverse operations "undo" each other.

We solve equations by using inverses to get the variable by itself.

Find the equation of the inverse for
this function:

1.3
y= Ax" =7 8_7 +1
PC= \l t&7 £ Switch the
& xandy.

tj: \{W Then solve for y.

Given Operation Inverse Operation
Addition Subtraction
Division Multiplication
Squaring Square Root
Cube Root Cubing

Find the equation of the inverse.

y = 10*

At this point you don't know how to do this!!!



Sec 8-3: Logarithms

To solve for x in an exponential equation: y =10" the nysrecichexpenentisliinetions)

we use the inverse operation called:

Exponential Function Logarithmic Function
: - X —
Logarithm Yy=D Iogby = X

/ |

The base
of the The bgse pf the
Exponential Logarithmic
Function P Function

How do you say this?

Logy = X

E fial Function: | ithmic E ion:
y — bx "Log, base b, of y equals x"

Log base b of y equals x logpy = X



Another way to remember how to write an

Rewriting an equation into Logarithmic form. : Lk e
Exponential Equation in Logarithmic Form:

Exponential Function: Logarithmic Function: Exponential S— Lograrithmic
Form: :
y = b* "Log, base b, of y equals x" & Form:
1
E — = ¢ —
\ logpy =X X=y z = Log, X
\ /
\ . /
|_| The base is "The exponent is
the base the answer"
’ Exponential Equation ‘ Logarithmic Equation ]
Get a small white board, marker, and rag.
Domain: I _
Range Any real Ogby =X
y>0 number You can only
\ /' Range: Benmsite input positive
X ge. =9 numbers to
y = b Any real x>0 a logarithm
number and you can
get anything
out of a
b: b>0 b#‘| logarithm.
b>0, b#1




1. Rewrite each into logarithmic form. _ _ _
2. Write each in exponential form.

a) Log,169 =2 b) Logsx =1 c) Logs3 =x

a 5=40 — > L%;\LQ_— X i/ N x\{:
s ex ——> Logx= 2 X=leg  3-x 475

Cc. 2=20 — LOSXZO_— 2_

Write in Logarithmic Form: 10 =125 Evaluate each: (hint: think of each as an exponential)
0,125 =X 1. logs1=© 2. 10g:9 =2
X
LOG10125 — "LOG base 10 of 125" — LOG125 q=l = x=0 > =1 B
| | | 3. log«(7) 4. 109265 = V2
LOGyois called the Common Logarithm and is A . 25=5 —=\Vzs=5

written without the 10.

5. & | XY

The button on the calculator [LOG]is for Common Logarithms |
LOG1o 7 ‘ ‘



